

TESTBEAM TREE DESCRIPTION (positions are in cm , times in TDC counts)

Branch/Leaf   Variable

name          name

GENERAL_Run   Run/I               Run number

GENERAL_Spill Spill/I             Spill number (simply reset each 500 event)

GENERAL_Event Event/I             Event number

TRTIME       trigT/I              Obsolete

DTBX_nhit        Nhits/I          Number of TDC data

DTBX_lay     hlay[Nhits]/I          lay number (see note1 for coding)

DTBX_tube   htube[Nhits]/I          cell number

DTBX_time   htime[Nhits]/I          TDC time

DTBX_flag   hflag[Nhits]/I          rise/fall edge (always 0)

SEG_ns            ntes/I          Number of segments (see note2)

SEG_sx          X[ntes]/F           intercept

SEG_ss      SLOPE[ntes]/F           slope

SEG_sk       CHI2[ntes]/F           chisquare

SEG_sn        NPT[ntes]/I           number of points (see note3)

SEG_sl        LAY[ntes]/I           obsolete

SEG_st       TMAX[ntes]/F           correct mean-time

SEG_1w         l1[ntes]/I           wire number for hit in layer 1

SEG_2w         l2[ntes]/I           wire number for hit in layer 2

SEG_3w         l3[ntes]/I           wire number for hit in layer 3

SEG_4w         l4[ntes]/I           wire number for hit in layer 4 (see note4)

SEG_5w         l5[ntes]/I           wire number for hit in layer 5

SEG_6w         l6[ntes]/I           wire number for hit in layer 6

SEG_7w         l7[ntes]/I           wire number for hit in layer 7

SEG_8w         l8[ntes]/I           wire number for hit in layer 8 (see note4)

SEG_1t         t1[ntes]/I           drift time for hit in layer 1

SEG_2t         t2[ntes]/I           drift time for hit in layer 2

SEG_3t         t3[ntes]/I           drift time for hit in layer 3

SEG_4t         t4[ntes]/I           drift time for hit in layer 4

SEG_5t         t5[ntes]/I           drift time for hit in layer 5

SEG_6t         t6[ntes]/I           drift time for hit in layer 6

SEG_7t         t7[ntes]/I           drift time for hit in layer 7

SEG_8t         t8[ntes]/I           drift time for hit in layer 8

SEG_1c        l1c[ntes]/I           left/right (+1/-1) code for hit in layer 1

SEG_2c        l2c[ntes]/I           left/right (+1/-1) code for hit in layer 2

SEG_3c        l3c[ntes]/I           left/right (+1/-1) code for hit in layer 3

SEG_4c        l4c[ntes]/I           left/right (+1/-1) code for hit in layer 4

SEG_5c        l5c[ntes]/I           left/right (+1/-1) code for hit in layer 5

SEG_6c        l6c[ntes]/I           left/right (+1/-1) code for hit in layer 6

SEG_7c        l7c[ntes]/I           left/right (+1/-1) code for hit in layer 7

SEG_8c        l8c[ntes]/I           left/right (+1/-1) code for hit in layer 8

SEG_1x         x1[ntes]/F           hit position for  hit in layer 1

SEG_2x         x2[ntes]/F           hit position for  hit in layer 2

SEG_3x         x3[ntes]/F           hit position for  hit in layer 3

SEG_4x         x4[ntes]/F           hit position for  hit in layer 4

SEG_5x         x5[ntes]/F           hit position for  hit in layer 5

SEG_6x         x6[ntes]/F           hit position for  hit in layer 6

SEG_7x         x7[ntes]/F           hit position for  hit in layer 7

SEG_8x         x8[ntes]/F           hit position for  hit in layer 8

RHIT_n            nrhit/I         Number of reconstructed hits

RHIT_l         XL[nrhit]/F          left  hit position

RHIT_r         XR[nrhit]/F          right hit position

RHIT_z          Y[nrhit]/F      coordinate ortogonal to wire plane(note5)

RHIT_t       TIME[nrhit]/I          drift time

note1 : Layer number is added a code for chamber identification:

              [isect]*1000+[ich]*100+00 for MB[ich] in sector [isect]

note2 : ALL segments are included, theta, phi, single SL and full chamber.

        For full chamber phi view is given.

        For phi2 segments hit data are stored in l5-8,t5-8,x5-8,lc5-8

note3 : Number of points is added a code:

              [isect]*1000+[ich]*100+00 for MB[ich] in sector [isect]

                   plus

                     10 for phi1

                     20 for phi2

                      0 for full chamber [bothphi] segments or theta

        Number of points is negative for theta segments.

note5 : Chamber code is added:

              [isect]*1000+[ich]*100+00 for MB[ich] in sector [isect]

        As Y value ranges -11/+17 the actual values are

              1089/1117 MB1

              1289/1317 MB3

